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Ex. Problem:
When elemental aluminum reacts with elemental iodine, aluminum iodide is

.produced./‘('Al *—‘3—1’7_ -"507/4] Ij

mole ratios: A Al: &5 I,
J Al _oL AL
4 ? I.: . A'Is

If you start with 4 moles of Al, how many moles of AlI; will be produced?
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Problem Set One O'LN?_H; + [ N2Og4 '93 Nz + LI H20

BE SURE TO BALANCE THE EQUATION FIRST!

A) ? moles N,O4 = 2 72 moles N2H4
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6) ? moles N; = 2.72 moles N2H, l:
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How many moles of water will be produced when J. O grams of
hydrogen gas react with the oxygen in the air?
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(Hint: To "make ?ne switch” be?ween different substances in a reaction, use

the MOIC ) ratio from the bxallic o (! equation.)
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Problem Set Two
In photosynthesis, carbon dioxide and water react to form
glucose, CsH1206 and oxygen gas.

b €O+ b HO > __CeHiOs+ Lo 0,

BE SURE TO BALANCE THE EQUATION FIRST!

If 15.6 grams of carbon dioxide react, how many moles of
glucose will be produced?
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How many grams of carbon dioxide must react o produce 0.25
moles of glucose?
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